ZF.00BAT-M360

MAN TGX
Lampholder @ 60

10. bolt 6 M125 mm « Measures: 125x460x1470 mm.
11. bolt M16x160 mm - Weight : 13,4 kqg.

12. nut M6 DIN 985 ; ; . H
13. washer 6,4x18x1,6 mm - Time of mounting : 45 min.
14. washer 13x37x3 mm

15. washer 17x50x3 mm

1. lampholder

2. bushing I=105 mm

3. bushing 1=20 mm

4. adapter M12/M12x1,5 (TGX)

5. adapter M12/M12x1,5 (TGX V8)
6. plate M16

NNNMNNNNN =
NNNNDANNN

10 10
7. nut cover M12 16. spring washer A12
8. nut cover M16 17. spring washer A16 19
9. bolt M6x20 mm 24

- Remove plastic covers. Mount adapters no. 4 (TGX) or no. 5 (TGX V8). Mount the
lampholder. Mount the licence plate to the lampholder.



